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	Day 1 Homework: Rational Exponents
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	Day 2 Homework: Solving Radical Equations



Math 2 Honors			Unit 3 Homework				Rolesville High School
Solve the following for x using the notes from the video! You may work with your peers. Be sure to check for extraneous solutions! Show all your work on a separate sheet of paper. 
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2. [image: ]   +   2   =   x
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13. The number of people, y, involved in recycling in a community is modeled by the function[image: ], where x is the number of months the recycling plant has been open.  

(a) Find the number of people involved in recycling exactly 3 months after the plant opened.

(b) After how many months will 940 people be involved in recycling?

	Day 3 Homework: Graphing Radical Functions
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	Day 4 Homework: Applications of Radical Functions
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	Day 5 Homework: Direct and Inverse Variation


Find the Missing Variable:

1) y varies directly with x. If y = -4 when x = 2, find y when x = -6.

2) y varies inversely with x. If y = 40 when x = 16, find x when y = -5.

3) y varies inversely with x. If y = 7 when x = -4, find y when x = 5.

4) y varies directly with x. If y = 15 when x = -18, find y when x = 1.6.


Classify the following as:  	a) Direct		b) Inverse 		c) Neither

	5) m = -5p			6) c = 3v			7) r = [image: ]			

8) n = ½ f			9) d = 4t			10) z = [image: ]

What is the constant of variation for the following?

11) d = 4t		     12) z = [image: ]		  13) n = ½ f	              14) r = [image: ]

Answer the following questions.

18) If x and y vary directly, as x decreases, what happens to the value of y?

19) If x and y vary inversely, as y increases, what happens to the value of x?


Answer the following questions:

20) The electric current I, is amperes, in a circuit varies directly as the voltage V.  When 12 volts are applied, the current is 4 amperes.  What is the current when 18 volts are applied?


21)  The volume V of gas varies inversely to the pressure P.  The volume of a gas is 200 cm3 under pressure of 32 kg/cm2.  What will be its volume under pressure of 40 kg/cm2?


	Day 6 Homework: Solving Rational Functions


Determine whether the given x-value is a solution of the equation: 
1. [image: ]				2. [image: ]


Solve the rational equations by cross multiplying. Be sure to check for extraneous solutions! 
3. [image: ]			4. [image: ]			5. [image: ]



6. [image: ]			7. [image: ]			8. [image: ]

	Day 7 Homework: Graphing Rational Functions
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	Day 8: Graphing and Systems


Solve each system. Then represent the solution on a graph.  Label any key points. [image: ]
1. [image: ]
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Graph the function. Then state the domain and range.
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Write an equation for each graph. Then state the domain and range.
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Describe the transformations in the graph of each equation. Then state the domain
and range.

8 fl)=—xri-1 12, f(x) =4+ (—0)"?

9. fl)=(x-3)"+2 B fE)=5-G+9"
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1. A pendulum can be measured with the equation T

z:rJT where Tis the time in seconds, G is the force in

gravity (10m/s’) and L is the length of the pendulum.
a) find the period (to the nearest hundredth of a second) if a pendulum is 0.9m long
b) find the period if the pendulum is 0.049 m long.
¢) solve the equation for length L.

d) how long would the pendulum be if the period were exactly 15?

Solve the following applications
2. The difference between an integer and its square oot is 12. What is the integer?
3. The sum of an integer and twice its square root is 24. What is the integer?

4.The sum of an integer and three times its square root is 40. Find the integer.
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Used(h) = VZhfor#5-6
5. If a plane flies at 30,000 ft, how far away is the horizon?

6. Janine was looking out across the ocean from her hotel room on the beach. Her eyes were 250 ft above the
ground. She saw a ship on the horizon. Approximately how far was the ship from her?

When a car comes to a sudden stop, you can determine the skidding distance (in feet) for a given speed (in
miles per hour) using the formula s(x) = 2v/5x where s is skidding distance and x is speed. Calculate the
skidding distance for the following speeds.

7.55mi/h 8.65mi/h 9.75mi/h 10. 40 mi/h
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Graph the rational function including the asymptotes and a set of guide points from the slope.
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Write the equation of the rational function.
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Rewrite the expression using rational exponent notation.
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Rewrite the expression using radical notation.
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Evaluate the expression without using a calculator.
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